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Question 1

Question Type: MultipleChoice

Which statement most accurately describes the service features of VMware Cloud on Dell EMC? (Select one option)

Options:

A- Dell technicians perform all software maintenance, as well as hardware fixes.
B- When an onsite response is required to fix a problem related to a host, a Dell technician must arrive on site within 24 hours.
C- An SDDC includes a minimum of one rack with three hosts. You can add hosts to the rack, up to the maximum supported by the rack.

D- VMwareSite Recovery is included as part of the initial service offering.

Answer:

C

Explanation:

The statement that most accurately describes the service features of VMware Cloud on Dell EMC is C. An SDDC includes a minimum of
one rack with three hosts. You can add hosts to the rack, up to the maximum supported by the rack. An SDDC consists of a rack with a



minimum of three hosts, which can then be expanded up to the maximum supported by the rack. VMware Site Recovery is not included
as part of the initial service offering.

VMware Cloud on Dell EMC provides a service that enables customers to run their VMware-based workloads on Dell EMC's hardware,
in a jointly-engineered and fully-supported environment. The service allows customers to deploy a fully-configured VMware SDDC on
Dell EMC VxRail or VxRack SDDC systems, with the option to add more hosts to the rack as needed.

Question 2

Question Type: MultipleChoice

Which two features of the VMware cloud on AWS platform are part of service management process? (Choose two.)

Options:

A- VMware Tools management
B- Microsoft licensing management
C- Incident management

D- Workload OS management



E- Capacity management

Answer:

C E

Explanation:

Incident Management is responsible for handling customer incidents and ensuring customer satisfaction. Capacity Management is
responsible for ensuring that the service is sized appropriately for customer needs and that the capacity is monitored to ensure that it
meets customer requirements. VMware Tools management, Microsoft licensing management, and workload OS management are not
part of the service management process.

https://www.vmware.com/topics/glossary/content/hypervisor.html

What is a Hypervisor? | VMware Glossary
https://www.vmware.com/topics/glossary/content/hypervisor.html
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/vmc-aws-operations.pdf
VMware Cloud on AWS Operations Guide
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/vmc-aws-operations.pdf

https://lwww.vmware.com/topics/glossary/content/bare-metal-hypervisor.htmi


https://www.vmware.com/topics/glossary/content/hypervisor.html
https://docs.vmware.com/en/VMware-Cloud-on-AWS/services/vmc-aws-operations.pdf
https://www.vmware.com/topics/glossary/content/bare-metal-hypervisor.html

What is a Bare Metal Hypervisor? | VMware Glossary

https://www.vmware.com/topics/glossary/content/bare-metal-hypervisor.html

Question 3

Question Type: MultipleChoice

A Cloud administrator is starting to plan a workload migration and wants to estimate the cost of running those workloads on VMware
Cloud. Which VMware Cloud service should the administrator use to achieve this goal?

Options:

A- VMware vRealize Network Insight Cloud
B- VMware vRealize Operations Cloud
C- VMware vRealize Log Insight Cloud

D- VMware vRealize Automation Cloud

Answer:




Explanation:

Managing Costs:

With its capacity and cost management features, vRealize Operations Cloud can predict future demand and provide actionable
recommendations to help in managing costs.

Reclamation of Existing Resources:

Assess workload status and resource contention in data centers across your environment:

Determine the time remaining until CPU, memory, or storage resources run out.

Realize cost savings when underutilized VMs are identified and reclaimed to be deployed more effectively.
Future Infrastructure Requirements

Run what-if scenarios:

Identify how much capacity remains after you add or remove VMs or hosts.

Add hyperconverged infrastructure (HCI) nodes.

Get a recommendation based on the cost relative to workload placement on different hosts, clusters, data centers, and even different
clouds.



Cloud Migration Planning:

Migration planning shows you the capacity and cost information after the migration to a cloud-based infrastructure.
Cost Overview

vRealize Operations Cloud supports costing for private clouds, public clouds, and VMware Cloud infrastructure.

You can track expenses for a single virtual machine, and identify how these expenses attribute to the overall cost associated with your
private cloud accounts and VMware Cloud infrastructure accounts.

On theCost Overviewhome page in vRealize Operations Cloud, you can find details about the costs associated with your VMware Cloud
infrastructure accounts, public cloud accounts, and your private cloud accounts.

o @

You can view the Total Cost of Ownership, Potential Savings, and Realized Savings for your VMware Cloud infrastructure cloud
accounts and vSphere private cloud accounts, and Total Cost of Ownership for your private cloud accounts.

https://docs.vmware.com/en/vRealize-Business/7.6/vRBforCloud.user.doc/GUID-AA3C209A-2DFA-433F-BD57-6 7TE66A598E5D .html


https://docs.vmware.com/en/vRealize-Business/7.6/vRBforCloud.user.doc/GUID-AA3C209A-2DFA-433F-BD57-67E66A598E5D.html

Question 4

Question Type: MultipleChoice

A cloud administrator wants to deploy a VMware Cloud software-defined data center (SDDC) on a cloud provider and requires a
consistent 4.5 Gbps bandwidth from applications to communicate from on-premises to the SDDC. Which type of connection should be
used for this type of traffic?

Options:

A- Policy-based virtual private network (VPN)
B- Private L2 virtual private network (VPN)
C- Route-based virtual private network (VPN)

D- Private line

Answer:

C

Explanation:




The best option for a cloud administrator who wants to deploy a VMware Cloud software-defined data center (SDDC) on a cloud provider
and requires a consistent 4.5 Gbps bandwidth from applications to communicate from on-premises to the SDDC is a Route-Based
Virtual Private Network (VPN). This type of connection offers enhanced performance[1][2], flexibility, scalability, and security compared
to other options, such as Policy-Based Virtual Private Network (VPN), Private L2 Virtual Private Network (VPN), or Private Line.

According to the VMware official site, 'Route-based VPN enables a secure connection between two or more sites, or between a site and
a mobile user, and provides better performance and scalability than a policy-based VPN. Route-based VPNs are also more secure than
policy-based VPNs, because the traffic is encrypted with a unique encryption key for each tunnel, rather than relying on a shared key for
all tunnels. This allows for secure and reliable connections for devices and applications located in different physical locations.' [1]

[1]https://docs.vmware.com/en/VMware-NSX-Data-Center/2.4/com.vmware.nsx.admin.doc/GUID-D6B7B9E9-E134-4C8A-8F2E-
1C60A2FEDC1A.html

Question 5

Question Type: MultipleChoice

A cloud administrator is looking for a unified solution to collect and analyze security events for troubleshooting from: VMware vSphere
Windows Operating Systems Physical servers Web servers Database servers Amazon Web Services Which VMware Cloud service can
meet this requirement?


https://learn.microsoft.com/en-us/azure/azure-vmware/faq
https://learn.microsoft.com/en-us/azure/azure-vmware/faq
https://learn.microsoft.com/en-us/azure/azure-vmware/faq
https://learn.microsoft.com/en-us/azure/azure-vmware/faq
https://docs.vmware.com/en/VMware-NSX-Data-Center/2.4/com.vmware.nsx.admin.doc/GUID-D6B7B9E9-E134-4C8A-8F2E-1C60A2FEDC1A.html
https://docs.vmware.com/en/VMware-NSX-Data-Center/2.4/com.vmware.nsx.admin.doc/GUID-D6B7B9E9-E134-4C8A-8F2E-1C60A2FEDC1A.html

Options:

A- VMware vRealize Automation Cloud
B- CloudHealth Secure State
C- VMware vRealize Log Insight Cloud

D- VMware vRealize Network Insight Cloud

Answer:

C

Explanation:

https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vrealize-log-insight-to-a-
siem.html

Question 6

Question Type: MultipleChoice

What is a key driver behind the multi-cloud journey?


https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vrealize-log-insight-to-a-siem.html
https://blogs.vmware.com/management/2022/08/forwarding-vsphere-audit-and-authentication-events-from-vrealize-log-insight-to-a-siem.html

Options:

A- Facilitate disaster recovery
B- Application modernization
C- Digital transformation

D- Cost savings

Answer:

C

Explanation:

A key driver behind the multi-cloud journey is digital transformation, which is the process of using technology to optimize existing
processes and systems in order to improve customer experiences, increase operational efficiency, and accelerate business growth.
Multi-cloud solutions can help organizations modernize their applications and services, reduce costs, increase agility, and support digital
transformation initiatives. For more information, please refer to the official VMware Cloud on AWS documentation at:
https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.


https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.
https://docs.vmware.com/en/VMware-Cloud-on-AWS/index.html.
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